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RO ZHEBE L. k) (a+b+c)(a2+b2+c2—bc—ca—ab)=
a) 6x — (332 = (-2x> + (42 = 6) = 3) — 5x) =
b) (2pg —3p*)(p +29) — (¢> = 2pq)(2p —q) = RDBLDERICONT, EDERMLTEIE—BIDIEATE. (BTESBEBNGD]
a) (a+b)(a®—ab+b?) =a®+ b3 b) (a—b)(a® + ab + b?) = a® — b3
A=x2-3,B=1-2x2,C =x>—x + 1 DESE, ROWAESBEL.
¢) (x+3)*—(x—y)*=4xy
b) A—(B—(C—A)) =
RDEL DN ZRHDFEE L.
a) 3ab —6ac = b) 2a%bh —ab?® =
RDE2 DU ESTEE L.
2 _ _ —
a) —a?x (=b)3 = b) a x (a?)® x (a®)? = c) xT—x d) (a+0b)x—(a+b)y
¢) (M =x*)(=y)* = d) ab3(a? —5b%) = e) x24+x—6= f) x2—7x +10 =
e) (=3a?b)3® x (—2ab3)? = f) Bx+4y)? = g) 3x2—18x +27 = h) x? —1lxy +24y* =
g) Bx—4)(Tx—1)= h) (5x +y)(x +5y) =
i) 25x2 —4 = j) x*+8=
i) (x2=3xy —y?)(2x —3y) i) (a®+ab + b*)(a® —ab + b?)
k) x*+x= 1) 3x2—5x -2 =
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(6] ROBFEEITL, BERDERDE. 2120, a FRHETS.

a)
x—2)x3—2x2+4x -8
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f(x)=x3-3x+1&T 2.

a) f(x)7%Z2x — 2 TEIDICEETDRDZERDK.

b) f(2) DEZFTE L. a) DRWRELBE L.
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b)

x2—3x+2)x3 —9x + 8
= RO =

d)

x2 4 ax —a?) x3 —ax? —3a2%x
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x—2)x3 —-3x+1

a) BROERZFNALT, f(x) =x3—3x2 + 4 ZRODUTE D IcEEDRDZRDE.

1) x-1 2) x-—2

3) x+1 4) x+2

b) x—1, x—=2, x+1, x+2D55 x> -3x2 + 4 DRFTBE>TLDEDZE .

o) x3-3x? +4 ZRAYHBEX.
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NgcEge, BN _ o B L (\SEICED. fIZE 1757 CUBDEBE2TRD 3 E
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BBDT, % — 24 % THD. CHEDURTEERT, 22 —5x+ 1% x— 2 CEABDEED 2x — 1
2
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RBUALEDHEINE, BRNEDIHDEBIDIERDDBNEDHDECKRED. RDBLDDYINE ZDX
SCBINEDIHDBLDBRDDENEDFIDR(CE XK.

5x —3
a) =
x—2

2x2—x+3_
2x+1
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